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Sr Questions Answers Choice

1 "bourgeols" means ____________
A. poor class
B. boredom
C. tiredness
D. middle class

2 "schizophrenia" means _________
A. a mental disease
B. name of a book
C. name of a food
D. name of a city

3 "oblivion" means __________
A. learning
B. forgetting
C. forgiving
D. seeking

4 "mounting" means _____________
A. decreasing
B. receiving
C. increasing
D. subsiding

5 "Smile" in this cirticle means __________
A. laughter
B. rejection
C. fun
D. welcome

6 "Occidentals" mean ____________
A. European
B. Japani
C. Eastern
D. Southern

7 Mao is trying in fact to demonstrate that this concept apparently destroyed by modern
technology is still a ___________ one

A. meaningless
B. meaningful
C. fruitless
D. useless

8 Mao says that it is the people and not things, that are __________
A. convulsive
B. exhaustive
C. decisive
D. exclusive

9 The fact remains that when the number is not simply a juxtaposition of persons, but a
compact whole, then it tends to become _________

A. country
B. state
C. territory
D. power

10 The purchase of a million and a half tons of grain is only sufficient to feed the Chinese
population for _________ days

A. five
B. six
C. seven
D. ten

11 To increase one yard per head cloth would go round the world ___________ times
A. fifteen
B. eighteen
C. twenty
D. thirty

12 Contribution of a day's work from each person would mean _________ million extra
labourers for one year without cost to the state

A. zero
B. one
C. two
D. three

13 The endless mass of ________ million people might well overthrow the whole problem from
all sides

A. 400
B. 500
C. 600
D. 800

14 The other is the world of faith, of the development of Mao Thought with the little _________
book

A. Red

B. Green
C. Blue
D. Yellow

15 There are two opposite worlds, the rigid world of figures and the other the world of
_________

A. imagination
B. faith
C. dream
D. thought



16 There are two national holidays in China, __________ October 1
A. June 10
B. July 2
C. May 1
D. August 14

17 A family nearly always has more _________ one source of income
A. than
B. then
C. thus
D. though

18 The commune uses money form a specially constituted fund comprising ________ percent
of the community;s annual wage

A. one
B. two
C. three
D. four

19 The Chinese regime has set up an assistance system guaranteeing a minimum ________
level

A. substantial
B. tentative
C. systermatic
D. subsistence

20 Female workers are entitled to ___________ days rest on full salary before giving birth to
children

A. 56
B. 46
C. 36
D. 26


